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I. Simplify the following electric circuits. Show your work to get full credit. 
1. A 9.0 V battery was recharged with a current of 1.2 A in 1.8x104 s. How much charge was transferred during that time?


A. 1.1x101C


B. 2.2 x104C


C. 1.6x105C


D. 1.9x105C
2. Which of the following correctly labels arrows 1 and 2 and polarities X and Y in the circuit below?
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Electric Circuits problems 3 o Lexi0C D. the resistance to the flow of charged particles in a circuit.
L L6x
= V=Vs D. 1.9x10°C
IR S 5. Which of the following relationships correctly applies to the circuit shown below?
T
B R Ry 2. Which of the following correctly labels arrows 1 and 2 and polarities X and Y in the circuit
L Sumphy the follsing lecrc cruts. Shows your ok o get full edi. below? Vo § '
1490 Vbatery s echarged witha currentof 1A in 185104 . How much charge was transfeved duing
hattime? Xy
A LIsI0'C
B.22s10°C
: L T
C.16s10°C
D.19s10°C W
2. Which of the following corrcly Isbls arroves 1 nd 2 nd polries X and ¥ i the circuitbelow? A V=WV,
ARROW | ARROW 2 POLARITY X POLARITY Y B Vih=hsb,
A | Electron Flow Conventional Positive Negative
Current C. Vo=W=Vy=V,
B. | Electron Flow Conventional Negative Positive pp L_t,t. 1
Current [
C. | Conventional Electron Flow Positive Negative
Current
b . 6. Inthe following circuit, what is the magnitude of the potential difference between X and Y ?
- Conventional Electron Flow Negative Positive
Current 1SA  yV=12V
3. Which of the following graphs illustrates Ohm's law?
A 30V
AV BV C v D. v B. 60V
C. 90V
D. 12V
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3. Which of the following graphs illustrates Ohm's law?
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A V=WV,
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- B. VotV =Vy+V;
3 hih o e fllowing graphs fustats Obulsla? A | Electron Flow Conventional Positive Negative
Current C. Vo=V =V,
B. | Electron Flow Conventional Negative Positive p. L_1
Current [
C. | Conventional Electron Flow Positive Negative
Current
b . 6. Inthe following circuit, what is the magnitude of the potential difference between X and Y ?
- Conventional Electron Flow Negative Positive
Current 1SA  yV=12V

3. Which of the following graphs illustrates Ohm's law?
A 30V
AV BV C v D. v B. 60V
C. 90V
D. 12V
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4. Current is a measure of


A. the number of charges stored in a cell.


B. the amount of energy given to a charged object.


C. the charge passing a point in a circuit in a given time.


D. the resistance to the flow of charged particles in a circuit.

5. Which of the following relationships correctly applies to the circuit shown below?


[image: image4.png]ICNEERCD RS 2, Circuit Problerns 3 MC [Compatibilty Mode] - Microsoft Word L= e ws o4 W . (o] -
(@) 2ic>
D e T it e o o L0 s e i - 8 et s | R ] - v ] | AR
&t T T HAFind - File Edt View Favortes Tools Help
ﬁ # Times New Roman FERrSNE| (20| 4aBsCc AaBb( AdBbCel AaBbCdl AaBbccI AaBbC 6\ Py -
Sa copy - o Replace % @ Convert + [)Select
P rormatpainter || B 4 U~ abe %, X! ¥ - A = -|[By- G| emphasis  Headingi  TNomal  Stong  Subtitie e (o) Counge S et . .
- o inter Styles~ el % @ AP Pass - AP Test Calculat... ] AP Physics B, Mr. B's Phys... T course AP Physics B &) DOLORES GENDE AP PHY... £ Eduardo Arrambide - Outl... & Giancoli, Physics Principl. Google £ Learn AP Physics - AP Phy... B Mr. Murray's Science Web... o~ v [ @@ v Pagev Safetyv Tookv @+
Cigboard___ 5 Stytes 5 editing
<> B Q@ Search the document. av
< ~ ~
E Auambide Physics AP/Dual 1. A 9.0 V battery was recharged with a current of 1.2 A in 1.8x10*s. How much charge was 4. Current is a measure of
transferred during that time?
3. Which of the following graphs illustrates Ohm’s law? - ‘e that time A, the number of charges stored in a cell.
AV BV c v A LIXIOC B.the amount of energy given to a charged object.
. : B, 2.2x10°C C. the charge passing a point in a circuit ina given time.
e LexitC D. the resistance to the flow of charged particles in a circuit.
T ; D. 1.9x10°C
4. Current is a measure of 5. Which of the following relationships correctly applies to the circuit shown below?
A.the mumber of charges stored in a cell
B the amount of encras aiven to 2 charsed obiect. 2. Which of the following correctly labels arrows 1 and 2 and polarities X and Y in the circuit
C. the charge passing 2 point in a circuit in 2 given time, belaw? Vo = v
D the resistance to the flow of charged particles in a circuit B
XY
5. Which of the following relationships correctly applies to the circuit shown below? *
A
A Vo=W+Va+l,
ARROW | ARROW 2 POLARITY X POLARITY Y A
A | Electron Flow Conventional Positive Negative
Current C V==V,
B. | Electron Flow Conventional Negative Positive p. L_1
Current A
C. | Conventional Electron Flow Positive Negative
Current
b - 6. Inthe following circuit, what is the magnitude of the potential difference between X and Y ?
- Conventional Electron Flow Negative Positive
Current 1SA  yV=12V
ezt 5o 3. Which of the following graphs illustrates Ohm's law? « sov
E N = AV BV C v D. v B. 60V
o [
— v D. 12V v

#100% v





[image: image5.png]ICNEERCD RS 2, Circuit Problerns 3 MC [Compatibilty Mode] - Microsoft Word L= e ws o4 W . (o] -
(@) 2ic>
D e T it e o o L0 s e i - 8 et s | R ] - v ] | AR
&t T T HAFind - File Edt View Favortes Tools Help
ﬁ # Times New Roman FERrSNE| (20| 4aBsCc AaBb( AdBbCel AaBbCdl AaBbccI AaBbC 6\ Py -
Sa copy - o Replace % @ Convert + [)Select
P rormatpainter || B 4 U~ abe %, X! ¥ - A = -|[By- G| emphasis  Headingi  TNomal  Stong  Subtitie e (o) Counge S et . .
- o inter Styles~ el % @ AP Pass - AP Test Calculat... ] AP Physics B, Mr. B's Phys... T course AP Physics B &) DOLORES GENDE AP PHY... £ Eduardo Arrambide - Outl... & Giancoli, Physics Principl. Google £ Learn AP Physics - AP Phy... B Mr. Murray's Science Web... o~ v [ @@ v Pagev Safetyv Tookv @+
Cigboard___ 5 Stytes 5 editing
<> B Q@ Search the document. av
< ~ ~
E Auambide Physics AP/Dual 1. A 9.0 V battery was recharged with a current of 1.2 A in 1.8x10*s. How much charge was 4. Current is a measure of
transferred during that time?
3. Which of the following graphs illustrates Ohm’s law? - ‘e that time A, the number of charges stored in a cell.
AV BV c v A LIXIOC B.the amount of energy given to a charged object.
. : B, 2.2x10°C C. the charge passing a point in a circuit ina given time.
e LexitC D. the resistance to the flow of charged particles in a circuit.
T ; D. 1.9x10°C
4. Current is a measure of 5. Which of the following relationships correctly applies to the circuit shown below?
A.the mumber of charges stored in a cell
B the amount of encras aiven to 2 charsed obiect. 2. Which of the following correctly labels arrows 1 and 2 and polarities X and Y in the circuit
C. the charge passing 2 point in a circuit in 2 given time, belaw? Vo = v
D the resistance to the flow of charged particles in a circuit B
XY
5. Which of the following relationships correctly applies to the circuit shown below? *
A
A Vo=W+Va+l,
ARROW | ARROW 2 POLARITY X POLARITY Y A
A | Electron Flow Conventional Positive Negative
Current C V==V,
B. | Electron Flow Conventional Negative Positive p. L_1
Current A
C. | Conventional Electron Flow Positive Negative
Current
b - 6. Inthe following circuit, what is the magnitude of the potential difference between X and Y ?
- Conventional Electron Flow Negative Positive
Current 1SA  yV=12V
ezt 5o 3. Which of the following graphs illustrates Ohm's law? « sov
E N = AV BV C v D. v B. 60V
o [
— v D. 12V v

#100% v




6. In the following circuit, what is the magnitude of the potential difference between X and Y ?
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4. Current is a measure of
A the number of charges stored in 2 cell,
B. the amount of energy given to 2 charged object,
C.the charge passing 2 point in 2 circuit in 2 given time,
D.the resistance tothe flow of charged particles in 2 circuit,

5. Which of the following relationships correctly applies to the circuit shown below?

Vo=Vi+ Vit by

Vot ¥,

6.1In the following circuit, what is the magnitude of the potential difference between X and Y2
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D. | Conventional Electron Flow Negative Positive
Current

3. Which of the following graphs illustrates Ohm's law?

AV B. V C v D. vy

7. A potential difference of 12 V causes 0.35 C of electric charge to pass through a resistor
in2.6 5. What power does the resistor dissipate?

L6W
42w
nw
89W

cowp

8. The headlights in a car use 95 W of power. A driver parks her car but leaves the lights on. The
12V battery has 3.4 x10° C of stored charge. How long does it take for the battery to lose its

charge?

A L1x10°s

B. 3.6x10°s
0 - C. 43x%10%s

D. 2.7x10°s

Search the document.

6. Inthe following circuit, what is the magnitude of the potential difference between X and Y ?

1LSA V=12V

A 30V
B. 60V
C. 90V
D. 12V

11. What is the power dissipated in resistor R, in the circuit shown in the diagram below?

3300
W
nv Z 1000
>
1=0.15A

A 083W
B. 097W
C. 1L8W
D. 28W

12. A battery whose emf s 6.0 V is connected to a 2.0 € resistor. The voltage drop across the 2.0 Q
resistor is 5.0 V. What s its internal resistance?
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4. Current is a measure of
A the number of charges stored in 2 cell,
B. the amount of energy given to 2 charged object,
C.the charge passing 2 point in 2 circuit in 2 given time,
D.the resistance tothe flow of charged particles in 2 circuit,

5. Which of the following relationships correctly applies to the circuit shown below?

Vo=Vi+ Vit by

Vot ¥,

6.1In the following circuit, what is the magnitude of the potential difference between X and Y2
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in2.6 5. What power does the resistor dissipate?
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42w
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cowp

8. The headlights in a car use 95 W of power. A driver parks her car but leaves the lights on. The
12V battery has 3.4 x10° C of stored charge. How long does it take for the battery to lose its

charge?

A L1x10°s

B. 3.6x10°s
0 - C. 43x%10%s

D. 2.7x10°s
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6. Inthe following circuit, what is the magnitude of the potential difference between X and Y ?

1LSA V=12V

A 30V
B. 60V
C. 90V
D. 12V

11. What is the power dissipated in resistor R, in the circuit shown in the diagram below?

3300
W
nv Z 1000
>
1=0.15A

A 083W
B. 097W
C. 1L8W
D. 28W

12. A battery whose emf s 6.0 V is connected to a 2.0 € resistor. The voltage drop across the 2.0 Q
resistor is 5.0 V. What s its internal resistance?
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7. A potential difference of 12 V causes 0.35 C of electric charge to pass through a resistor in 2.6 s. What power does the resistor dissipate?


A. 1.6 W

B. 4.2 W

C. 11 W

D. 89 W

 8. The headlights in a car use 95 W of power. A driver parks her car but leaves the lights on. The 12 V battery has 3. 4 ×105 C of stored charge. How long does it take for the battery to lose its charge?


A. 1.1 ×103 s
B. 3.6 ×103 s
C. 4.3 ×104 s
D. 2.7 ×106 s
9. Which of the following household electrical appliances has the greatest rate of energy consumption? (Think Power)
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6.1In the following circuit, what is the magnitude of the potential difference between X and Y2
ISA V=12V

A 30V
B. 60V
C. 9.0V
D. 12V

40Q 200
Y

7.A potential difference of 12V causes 0.35 C of electric charge to pass through a resistor in 2.6 s. What power
does the resistor dissipate?

AL6W B.42W 1w D.sOW

8. The headlights in a car use 95 W of power. A driver parks her car but leaves thelights on. The 12V battery.
has 3. 4.x105 C of stored charge, How long does it take for the battery to lose its charge?

AL1x10°s  B.36x10°s  C.43x10°s  D.27x10°s
9. Which of the following houschold electrical appliances has the greatest rate of energy consumption?
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‘The headlights in a car use 95 W of power. A driver parks her car but leaves the lights on. The
12V battery has 3.4 x10° C of stored charge. How long does it take for the battery to lose its

charge?

A L1x10°s
B. 3.6x10°s
C. 43x%10%s
D. 2.7x10°s

Which of the following houschold electrical appliances has the greatest rate of energy

consumption?
ITEM CURRENT
A Video Camera 6.0V 1L6A
B. Radio 45V 0.45A
C. | Cassetie Recorder 6.0V 22A
D. Ghetto Blaster v 1L4A

45w
60W
0w
AW

ikt

18V

80Q

10. Calculate the power dissipated by the 8.0 € resistor in the circuit below.

W

160Q

QSearch the document
—W——
R, 1=015A
083 W
0.97W
18W
28W

cow>

12. A battery whose emf s 6.0 V is connected to a 2.0 € resistor. The voltage drop across the 2.0 Q
resistor is 5.0 V. What s its internal resistance?

040Q
170
24Q
25Q

Sow>

is 0.60 2 is charged by supplying a 0.50 A current

What is the terminal voltage of the cell while being charged?

sow
=

Pt
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